



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\frac{2}{5} + \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) =$$

$$\left(\frac{3}{4} + \frac{2}{5}\right)^2 + \frac{1}{4}\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(4 + \frac{1}{5}\right)^2 + \frac{1}{2} + \frac{1}{2} + 4^2 =$$

$$\left(\frac{1}{4} + \frac{1}{6}\right)^2 + \frac{1}{5}\left(\frac{1}{4} - \left(\frac{3}{5}\right)^2\right) =$$

$$\left(2 + \frac{2}{5}\right)^2 - \frac{1}{2} - \frac{2}{5} + 2^2 =$$

$$\left(\frac{3}{5} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} + \left(\frac{3}{2} + \frac{1}{2}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{2} + \left(\frac{3}{2} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{6} + \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{3} + \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{5} + \frac{1}{2}\right) =$$

$$\left(4 - \frac{1}{2}\right)^2 - \frac{1}{5} - \frac{3}{4} + 2^2 =$$



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\frac{2}{5} + \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) = \frac{623}{800}$$

$$\left(\frac{3}{4} + \frac{2}{5}\right)^2 + \frac{1}{4}\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) = \frac{277}{200} = 1\frac{77}{200}$$

$$\left(4 + \frac{1}{5}\right)^2 + \frac{1}{2} + \frac{1}{2} + 4^2 = \frac{866}{25} = 34\frac{16}{25}$$

$$\left(\frac{1}{4} + \frac{1}{6}\right)^2 + \frac{1}{5}\left(\frac{1}{4} - \left(\frac{3}{5}\right)^2\right) = \frac{2729}{18000}$$

$$\left(2 + \frac{2}{5}\right)^2 - \frac{1}{2} - \frac{2}{5} + 2^2 = \frac{443}{50} = 8\frac{43}{50}$$

$$\left(\frac{3}{5} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} + \left(\frac{3}{2} + \frac{1}{2}\right)^2 = \frac{177}{40} = 4\frac{17}{40}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{2} + \left(\frac{3}{2} + \frac{1}{2}\right)^2 = \frac{35}{8} = 4\frac{3}{8}$$

$$\left(\frac{1}{6} + \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \left(-\frac{109}{144}\right)$$

$$\left(\frac{1}{3} + \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{5} + \frac{1}{2}\right) = \left(-\frac{7}{720}\right)$$

$$\left(4 - \frac{1}{2}\right)^2 - \frac{1}{5} - \frac{3}{4} + 2^2 = \frac{153}{10} = 15\frac{3}{10}$$